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65 66 - 172 37 - - 66 = 25 2.0 400
7501 115 - 299 64 = - 115 = 25 2.0 400
1E5D2 100 - 260 56 = # 100 - 2.5 1.4 280
3 E 145 = 377 81 - - 145 = 25 2.0 400
9EMD1 179 = 1,418 211 = = 179 - 5.0 3.0 600
95D 2 137 5 356 77 = - 137 - 2.5 3.8 760
10801 300 - 1,080 240 - - 300 - 35 2.7 540
115 150 = 720 160 - - 150 - 35 1.9 380
B 12801 103 = 464 69 - - 103 - 3.0 1.8 360
13501 320 - 1,440 214 - - 320 - 3.0 2.0 400
B 13ED2 216 - 972 145 - - 216 - 3.0 2.8 560
13803 200 - 1,242 186 - - 200 = 4.0 25 500
o155 200 - 520 112 - = 200 - 2.5 1.7 340
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